

						AFP INDUSTRIES, LCC		APRICO	OT OFFICE SUPP	LIES & FURNITURE
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
		WARRANTY, IF GREATER THAN ONE YEAR								
	1	Items 1 AND 1A will be awarded as a Total Low Group, Bidder must bid booth Items.								
	516-0545	Teacher's desk, single pedestal, metal with plastic top approximately 30 "W X 48 "L								
1 BALANCE		Minimum order: 1-119 each	700	Each	NO BID			\$353.00	\$247,100.00	ABCO ETD3048FM
1A BALANCE		Minimum order: 120 or more	1186	Each	NO BID		是一种是例外。	\$350.00	\$415,100.00	ABCO ETD3048FN
		TOTAL LOW GROUP			NO BID				\$662,200.00	
	2	items 2 through 2A will be awarded as a Total Low Group. Bidder must bid all items.								
	516-4320	Computer table, approximately 30 "W X 60 "L,								
2 BALANCE		Minimum order: 1-99 each	200	Each	NO BID			NO BID		
2A BALANCE		Minimum order: 100 or more	3000	Each	NO BID			NO BID		
		TOTAL LOW GROUP			NO BID	NO BID			NO BID	
	3	Items 3 through 3A will be awarded as a Total Low Group. Bidder must bld all items.						-		
	516-4338	Computer table, approximately 30"W X 72"L,								
3 BALANCE		Minimum order: 1-49 each	50	Each	NO BID			NO BID		
3A BALANCE		Minimum order: 50 or more	350	Each	NO BID			NO BID		
		TOTAL LOW GROUP	 	1	NO BID	NO BID			NO BID	

						AFP INDUSTRIES, LCC		APRIC	OT OFFICE SUPP	LIES & FURNITURE
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
	4	Items 4 through 4A will be awarded as a Total Low Group. Bidder must bid ali items.								
	516-4346	Computer workstation, approximately 30° X 36° X 26-1/2°.								
BALANCE		Minimum order: 1-199 each	200	Each	NO BID			\$133.75	\$26,750.00	ABCOCFM30366M H30
4A BALANCE		Minimum order: 200 or more	1300	Each	NO BID			\$129.99	\$168,987.00	ABCOCFM30366M H30
		TOTAL LOW GROUP			NO BID	NO BID	**************************************		\$195,737.00	
	5	Items 5 through 5B will be awarded as a Total Low Group. Bidder must bid all items.								
	516-4354	Technology center, computer table, approximately 48"W X 30"D.								
BALANCE		Minimum Order: 1-5 each	26	Each	NO BID		1040 A 1, 7/4	NO BID		
5A BALANCE		Minimum Order: 6-24	50	Each	NO BID		4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	NO BID		
5B BALANCE		Minimum Order: 25 or more	600	Each	NO BID			NO BID		
		TOTAL LOW GROUP			NO BID	NO BID			NO BID	
	6	Item 6 , will be awarded as a Low Unit Price.		+						
		Typing table, approximately 24" X 36"L.								
BALANCE		Minimum Order: 1 each	25	Each	NÓ BID		de distriction,	NO BID		
		LOW UNIT PRICE			NO BID	NO BID			NO BID	
	7	Items 7 through 7B will be awarded as a Total Low Group. Bidder must bid all Items.								
	T	Student table, rectangular approximately 48"W X 24"D.								
BALANCE	-	Minimum Order: 1-5 each	20	Each	NO BID			\$98.90	\$1,978.00	ABCOATART244
7A BALANCE		Minimum Order: 6-24 each	50	Each	NO BID			\$95.00	\$4,750.00	ABCOATART244
7B BALANCE		Minimum Order: 25 or more	200	Each	NO BID			\$91.08	\$18,216.00	ABCOATART244
		TOTAL LOW GROUP		1 1	NO BID	NO BID	1000		\$24,944.00	Non- responsive/ r

						AFP INDUSTRIES, LCC		APRICO	OT OFFICE SUPP	LIES & FURNITURE
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #
	8	items 8 through 9B, will be awarded as a Total Low Group. Bidder must bid all Items.								
		Chair, library, solid wood, two posts.		1 1						
BALANCE	-	Minimum Order: 1-19 each	80	Each	\$97.72	\$7,817.60	JASPER CHAIR 43	NOBID		
8A BALANCE		Minimum Order: 20-99 each	650	Each	\$93.33	\$60,664.50	JASPER CHAIR 43	NOBID		
8B BALANCE		Minimum Order: 100 or more	200	Each	\$91.43	\$18,286.00	JASPER CHAIR 43	NOBID		
	9	Chair, library, solid wood, four posts.		\Box						· 中心的神秘。(1)
9 BALANCE		Minimum Order: 6-19 each	80	Each	\$120.28	\$9,622.40	JASPER CHAIR 43UBS	NOBID		
9A BALANCE		Minimum Order: 20-99 each	650	Each	\$115.88	\$75,322.00	JASPER CHAIR 43UBS	NOBID		
9B BALANCE		Minimum Order: 100 or more	200	Each	\$114.00	\$22,800.00	JASPER CHAIR 43UBS	NOBID		
		TOTAL LOW GROUP				\$194,512.50			NO BID	

						AFP INDUSTRIES, LCC		APRIC	OT OFFICE SUPP	LIES & FURNITURE
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
	10	Items 10 through 13C will be awarded as a Total Low Group. Bidder must bid all items.								
PARTIAL		Chair, stacking type, 12".								
10 PARTIAL		Minimum Order: 20-50 each	70	Each	NŌ BID			NO BID		
10A PARTIAL		Minimum Order: 51-99 each	100	Each	NO BID			NO BID		
10B PARTIAL		Minimum Order: 100 or more	200	Each	NO BID			NO BID		
-	11	Chair, stacking type, 14",								
11 PARTIAL		Minimum Order: 20-50 each	100	Each	NO BID			NO BID		
11A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			NO BID		
11B PARTIAL		Minimum Order: 100-499 each	600	Each	NO BID			NO BID		亚洲 经财务
11C PARTIAL		Minimum Order: 500 or more	3,200	Each	NO BID			NO BID		
	12	Chair, stacking type, 16",								
12 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			NO BID		
12A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID		Real Park	NO BID		
12C PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID		\$478 B. Sen	NO BID		设施。投入 集
12D PARTIAL		Minimum Order: 500 or more	8,500	Each	NO BID			NO BID		
	13	Chair, stacking type, 18",								
13 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			NO BID		
13A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			NO BID		海上 。1996年
13B PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID			NO BID		新 国的2000
13C PARTIAL		Minimum Order: 500 or more	13,500	Each	NO BID			NO BID		
		TOTAL LOW GROUP		\Box		NO BID			NO BID	

The School Board of Miami-Dade County, Florida Bid No. 058-HH01 Library/Classroom Furniture: Tables, Desks, and Chairs

Reviewed	by
Prepared	by

						AFP INDUSTRIES, LCC		APRICO	OFFICE SUPP	LIES & FURNITURE
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	TINU	PRICE PER UNIT	EXTENDED PRIČE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
		Items 14 through 15B, will be awarded as a TOTAL Low Group. Bidder must bid all items.								
	14	Chair, teacher, height adjustable from approximately 15" to 20".								
14 BALANCE		Minimum Order: 100 each	2,000	Each	NO BID		5 人类 经基础	NO BID		
	15	Chair, task/teacher, pneumatic height, adjustable from approximately 15° to 20°, Fabric Grades should include III and IV:								
15 BALANCE		Minimum Order: 1-50 each	200	Each	NO BID			NO BID		
15A		Minimum Order: 51-99 each	300	Each	NO BID			NO BID		
15B		Minimum Order: 100 or more	1500	Each	NO BID			NO BID		新期的 原始
		TOTAL LOW GROUP				NO BID	Andrew Committee of the Andrew Committee of the Committee		NO BID	
	l	BALANCE OF LINE DISCOUNT:	-					50%		
	16									

						CAPITOLINE PR	ODUCT, INC	Alter	nate-CAPITOLIN	E PRODUCT, INC		CARITAN HOSPITA	ALITY, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	TINU	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
		WARRANTY, IF GREATER THAN ONE YEAR									_		
	1	Items 1 AND 1A will be awarded as a Total Low Group. Bidder must bid booth items.											
	516-0545	Teacher's desk, single pedestal, metal with plastic top approximately 30 °W X 48 °L.											
BALANCE		Minimum order: 1- 119 each	700	Each	NO BID		TOP HE WAS	NO BID	79		NO BID		
1A BALANCE		Minimum order: 120 or more	1186	Each	NO BID			NO BID			NO BID		
		TOTAL LOW GROUP				NO BID			NO BID			NO BID	
	2	Items 2 through 2A will be awarded as a Total Low Group. Bidder must bid all Items.											
	516-4320	Computer table, approximately 30 *W X 60 *L,											
BALANCE		Minimum order: 1-99 each	200	Each	\$95.23	\$19,046.00	CP3060 CT	\$90.72	\$18,144.00	CP3060 CTI	\$158.90	\$31,780.00	VIRCO 873060
2A BALANCE		Minimum order: 100 or more	3000	Each	\$92.03	\$276,090.00	CP3060 CT	\$89.72	\$269,160.00	CP3060 CTI	\$158.90	\$476,700.00	VIRCO 873060
		TOTAL LOW GROUP				\$295,136.00			\$287,304.00	Does not meet Specs.		\$508,480.00	
	3	Items 3 through 3A will be awarded as a Total Low Group. Bidder must bid all items.											
	516-4338	Computer table, approximately 30"W X 72"L,											
BALANCE		Minimum order: 1-49 each	50	Each	\$103.74	\$5,187.00	CP3072 CT	\$101.97	\$5,098.50	CP3072 CTI	\$258.90	\$12,945.00	VIRCO 873072 W/TWMP72
3A BALANCE		Minimum order: 50 or more	350	Each	\$102.74	\$35,959.00	CP3072 CT	\$99.97	\$34,989.50	CP3072 CTI	\$258.90	\$90,615.00	VIRCO 873072 W/TWMP72
		TOTAL LOW GROUP				\$41,146.00	Does not meet specifications	1	\$40,088.00	Does not meet specifications		\$103,560.00	

						CAPITOLINE PR	ODUCT, INC	Alter	nate-CAPITOLINI	E PRODUCT, INC		CARITAN HOSPITA	ALITY, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTUREF & MODEL #
_	4	Items 4 through 4A will be awarded as a Total Low Group. Bidder must bid all items.		_									
	516-4346	Computer workstation, approximately 30° X 36° X 26- 1/2°.											
BALANCE		Minimum order: 1-199 each	200	Each	\$68.03	\$13,606.00	CP3036 WS	\$68.03	\$13,606.00	CP3036 WS1	NÖ BID		
4A BALANCE		Minimum order: 200 or more	1300	Each	\$67.03	\$87,139.00	CP3036 WS	\$67.03	\$87,139.00	CP3036 WS1	NO BID		
		TOTAL LOW GROUP				\$100,745.00	DID NOT MEET SPECIFICATIONS		\$100,745.00	DID NOT MEET SPECIFICATIONS		NO BID	
	5	Items 5 through 5B will be awarded as a Total Low Group. Bidder must bid all Items.											
	516-4354	Technology center, computer table, approximately 48°W X 30°D.											
BALANCE		Minimum Order: 1-5 each	26	Each	\$76.45	\$1,987.70	CP3048 CT	\$76.95	\$2,000.70	CP3048 CT1	\$143.17	\$3,722.42	VIRCO 873048
5A BALANCE		Minimum Order: 6-24	50	Each	\$75.45	\$3,772.50	CP3048 CT	\$75.45	\$3,772.50	CP3048 CT1	\$143.17	\$7,158.50	VIRCO 873048
5B BALANCE		Minimum Order: 25 or more	600	Each	\$74.45	\$44,670.00	CP3048 CT	\$74,45	\$44,670.00	CP3048 CT1	\$143.17	\$85,902.00	VIRCO 873048
		TOTAL LOW GROUP				\$50,430.20	Does not meet specifications.		\$50,443.20	Does not meet specifications.		\$96,782.92	
	6	item 6, will be awarded as a Low Unit Price.		\vdash									
		Typing table, approximately 24" X 36"L.											
BALANCE		Minimum Order: 1 each	25	Each	\$62.23	\$1,555.75	CP2436 TY	\$62.23	\$1,555.75	CP2436 TY1	\$116.25	\$2,906.25	VIRCO 872436
		LOW UNIT PRICE				\$1,555.75	Does not meet specifications.		\$1,555.75	Does not meet specifications.		\$2,906.25	,
	7	Items 7 through 7B will be awarded as a Total Low Group. Bidder must bid all items.											
		Student table, rectangular approximately 48"W X 24"D.		1									
BALANCE		Minimum Order: 1-5 each	20	Each	\$69.95	\$1,399.00	CP2448 ST	\$69.95	\$1,399.00	CP2448 ST1	NO BID		网络外面
7A BALANCE		Minimum Order: 6-24 each	50	Each	\$69.05	\$3,452.50	CP2448 ST	\$69.05	\$3,452.50	CP2448 ST1	NO BID		
7B BALANCE		Minimum Order: 25 or more	200	Each	\$68.55	\$13,710.00	CP2448 ST	\$68.55	\$13,710.00	CP2448 ST1	NO BID		
		TOTAL LOW GROUP				\$18,561.50	Non- responsive/ no samples		\$18,561.50	Non- responsive/ no samples		NO BID	

						CAPITOLINE PR	RODUCT, INC	Aite	rnate-CAPITOLIN	E PRODUCT, INC		CARITAN HOSPIT	ALITY, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
	В	Items 8 through 9B, will be awarded as a Total Low Group. Bidder must bid all items.											
		Chair, library, solid wood, two posts.											
8 BALANCE		Minimum Order: 1-19 each	80	Each	NO BID			NO BID			NO BID		
8A BALANCE		Minimum Order: 20-99 each	650	Each	NO BID			NO BID		AND DESCRIPTION OF	NO BID		
8B BALANCE		Minimum Order: 100 or more	200	Each	NO BID			NO BID			NO BID		
	9	Chair, library, solid wood, four posts.											
9 BALANCE		Minimum Order: 6-19 each	80	Each	NO BID			NO BID			NO BID		12 May 10 Ma
9A BALANCE		Minimum Order: 20-99 each	650	Each	NO BID			NO BID			NO BID		
9B BALANCE		Minimum Order: 100 or more	200	Each	NO BID			NO BID			NO BID		
		TOTAL LOW GROUP				NO BID			NO BID			NO BID	

						CAPITOLINE PR	RODUCT, INC	Alter	rnate-CAPITOLIN	E PRODUCT, INC		CARITAN HOSPITA	ALITY, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURE! & MODEL #
	0	Items 10 through 13C will be awarded as a Total Low Group. Bidder must bid all items.											
PARTIAL		Chair, stacking type, 12".											
10 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			NO BID			\$21.89	\$1,532.30	VIRCO 9012
10A PARTIAL		Minimum Order: 51-99 each	100	Each	NO BID			NO BID			\$21.89	\$2,189.00	
10B PARTIAL		Minimum Order: 100 or more	200	Each	NO BID			NO BID			\$21.89	\$4,378.00	VIRCO 9012
	11	Chair, stacking type, 14".											
11 PARTIAL		Minimum Order: 20-50 each	100	Each	NO BID		有特殊的關係	NO BID			\$22.89	\$2,289.00	VIRCO 9014
11A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID		新元素是各种企业	NO BID		30 A 100	\$22.89	\$4,578.00	VIRCO 9014
11B PARTIAL		Minimum Order: 100-499 each	600	Each	NO BID		The Park of the Pa	NO BID			\$22.89	\$13,734.00	VIRCO 9014
11C PARTIAL		Minimum Order: 500 or more	3,200	Each	NO BID		TARREST TOWNS AND THE	NO BID			\$22.89	\$73,248.00	VIRCO 9014
-	12	Chair, stacking type, 16",											
12 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			NO BID			\$26.99	\$1,889.30	VIRCO 9016
12A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			NO BID		The Court of	\$26.99	\$5,398.00	VIRCO 9016
12C PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID		22 No. 18 No.	NO BID			\$26.99	\$21,592.00	VIRCO 9016
12D PARTIAL		Minimum Order: 500 or more	8,500	Each	NO BID			NO BID			\$26.99	\$229,415.00	VIRCO 9016
	13	Chair, stacking type, 18",											
13 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			NO BID			\$29.99		
13A PARTIAL		Minimum Order: 51-99 each	200		NO BID			NO BID			\$29.99	\$5,998.00	
13B PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID			NO BID			\$29.99	\$23,992.00	VIRCO 9018
13C PARTIAL		Minimum Order: 500 or more	13,500	Each	NO BID			NO BID		一种基膜板	\$29.99	\$404,865.00	VIRCO 9018
		TOTAL LOW GROUP				NO BID			NO BID			\$797,196.90	

						CAPITOLINE PE	IODUCT, INC	Alte	rnate-CAPITOLIN	E PRODUCT, INC.		CARITAN HOSPITA	LITY, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	TINU	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURE & MODEL #
		Items 14 through 15B, will be awarded as a TOTAL Low Group. Bidder must bid all Items.											
	14	Chair, teacher, height adjustable from approximately 15" to 20".	_										
14 BALANCE		Minimum Order: 100 each	2,000	Each	NO BID			NO BID			\$93.90	\$187,800.00	VIRCO 9260PG
	15	Chair, task/teacher, pneumatic height, adjustable from approximately 15° to 20°, Fabric Grades should include Ill and IV:											
15 IALANCE		Minimum Order: 1-50 each	200	Each	NO BID		Caragan in Cal	NO BID			NO BID		
15A		Minimum Order: 51-99 each	300	Each	NO BID			NO BID			NO BID		地是移動的
15B		Minimum Order: 100 or more	1500	Each	NO BID			NO BID			NO BID		
		TOTAL LOW GROUP	_			NO BID			NO BID			NO BID	
		BALANCE OF LINE DISCOUNT:		-	0%				0%		10%		
	16							}					

					COMME	CIAL CONCEPTS	& FURNIHINGS	ERNIE	MORRIS ENTERPE	RIZES, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER (MODEL #
		WARRANTY, IF GREATER THAN ONE YEAR								
	1	Items 1 AND 1A will be awarded as a Total Low Group. Bidder must bid booth items.	-							
	516-0545	Teacher's desk, single pedestal, metal with plastic top approximately 30 °W X 48 °L.								
1 BALANCÉ		Minimum order: 1-119 each	700	Each	NO BID			\$222.90	\$156,030.00	HON 88251R
1A BALANCE		Minimum order: 120 or more	1186	Each	NO BID			\$222.90	\$264,359.40	
		TOTAL LOW GROUP				NO BID			\$420,389.40	
	2	Items 2 through 2A will be awarded as a Total Low Group. Bidder must bid all items.								
	516-4320	Computer table, approximately 30 °W X 60 °L,								
2 BALANCE		Minimum order: 1-99 each	200	Each	NO BID			\$299.70	\$59,940.00	HÓN ED 3060GULP60
2A BALANCE		Minimum order: 100 or more	3000	Each	NO BID			\$299.70	\$899,100.00	HON ED 3060GULP60
		TOTAL LOW GROUP				NO BID	2.00		\$959,040.00	
	3	Items 3 through 3A will be awarded as a Total Low Group. Bidder must bid all Items.		-		-				
	516-4338	Computer table, approximately 30"W X 72"L,								
3 BALANCE		Minimum order: 1-49 each	50	Each	NO BID			\$345.10	\$17,255.00	HON ED3072GULP72
3A BALANCE		Minimum order: 50 or more	350	Each	NO BID			\$345.10	\$120,785.00	HON ED3072GULP72
	 -	TOTAL LOW GROUP	+	 		NO BID			\$138,040.00	

					COMMER	CIAL CONCEPTS	& FURNIHINGS	ERNIE	MORRIS ENTERPE	RIZES, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
	4	Items 4 through 4A will be awarded as a Total Low Group. Bidder must bid all items.								
	516-4346	Computer workstation, approximately 30" X 36" X 26- 1/2".								
4 BALANCE		Minimum order: 1-199 each	200	Each	\$136.96	\$27,392.00	ABCO	\$133.60	\$26,720.00	HON ED3036NCAST152
4A BALANCE		Minimum order: 200 or more	1300	Each	\$124.83	\$162,279.00	ABCO	\$133.60	\$173,680.00	HON ED3036NCAST152
		TOTAL LOW GROUP				\$189,671.00			\$200,400.00	
	5	Items 5 through 5B will be awarded as a Total Low Group. Bidder must bid all items.								
	516-4354	Technology center, computer table, approximately 48"W X 30"D.								
5 BALANCE		Minimum Order: 1-5 each	26	Each	NO BID			\$125.00	\$3,250.00	HON ED3048N
5A BALANCE		Minimum Order: 6-24	50	Each	NO BID			\$125.00	\$6,250.00	HON ED3048N
5B BALANCE		Minimum Order: 25 or more	600	Each	NO BID		10 10 10 10 10 10 10 10 10 10 10 10 10 1	\$125.00	\$75,000.00	HON ED3048N
		TOTAL LOW GROUP							\$84,500.00	
	6	item 6 , will be awarded as a Low Unit Price.		+-			 			
		Typing table, approximately 24" X 36"L.		1						
6 BALANCE		Minimum Order: 1 each	25	Each	NO BID			\$128.10	\$3,202.50	HON ED2436NCAST152
		LOW UNIT PRICE				NO BID			\$3,202.50	
	7	items 7 through 7B will be awarded as a Total Low Group. Bidder must bid all Items.								
		Student table, rectangular approximately 48"W X 24"D.								
7 BALANCE		Minimum Order: 1-5 each	20	Each	NO BID			\$118.70	\$2,374.00	HON ED2448N
7A BALANCE	1	Minimum Order: 6-24 each	50	Each	NO BID		明显 建铁	\$118.70	\$5,935.00	HON ED2448N
7B BALANCE		Minimum Order: 25 or more	200	Each	NO BID			\$118.70	\$23,740.00	HON ED2448N
		TOTAL LOW GROUP		+-		NO BID	100 TO 100 FAVO FAULUS OF STREET		\$32,049.00	

					COMME	RCIAL CONCEPTS	& FURNIHINGS	ERNIE	MORRIS ENTERP	RIZES, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #
	В	Items 8 through 9B, will be awarded as a Total Low Group. Bidder must bid all items.								
		Chair, library, solid wood, two posts.								
8 BALANCE		Minimum Order: 1-19 each	80	Each	NON RESPONSIVE			NO BID		
-8A BALANCE		Minimum Order: 20-99 each	650	Each	NON RESPONSIVE			NO BID		
8B BALANCE		Minimum Order: 100 or more	200	Each	NON RESPONSIVE			NO BID		
	9	Chair, library, solid wood, four posts.								
9 BALANCE		Minimum Order: 6-19 each	80	Each	NON RESPONSIVE			NO BID		
9A BALANCE		Minimum Order: 20-99 each	650	Each	NON RESPONSIVE			NO BID		
9B BALANCE		Minimum Order: 100 or more	200	Each	NON RESPONSIVE			NO BID		
		TOTAL LOW GROUP				NON RESPONSIVE			NO BID	

					COMMER	CIAL CONCEPTS	& FURNIHINGS	ERNIE	MORRIS ENTERP	RIZES, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #
	0	Items 10 through 13C will be awarded as a Total Low Group. Bidder must bid all items.								
PARTIAL		Chair, stacking type, 12".								
10 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			NO BID		
10A PARTIAL		Minimum Order: 51-99 each	100		NO BID			NO BID		建整层型
10B PARTIAL		Minimum Order: 100 or more	200	Each	NO BID		**************************************	NO BID		
	11	Chair, stacking type, 14",								
11 PARTIAL		Minimum Order: 20-50 each	100		NO BID			NO BID		
11A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID		公司的國際語言	NO BID		
11B PARTIAL		Minimum Order: 100-499 each	600	Each	NO BID			NO BID		
11C PARTIAL		Minimum Order: 500 or more	3,200	Each	NO BID			NO BID		
	12	Chair, stacking type, 16",								
12 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID		地域性の 類	NO BID		
12A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			NO BID		
12C PARTIAL		Minimum Order: 100-499 each	800		NO BID			NO BID		連絡的機
12D PARTIAL	,	Minimum Order: 500 or more	8,500	Each	NO BID		A STATE	NO BID		1,51
	13	Chair, stacking type, 18",								
13 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			NO BID		
13A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			NO BID		Asset Manual
13B PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID			NO BID		
13C PARTIAL		Minimum Order: 500 or more	13,500	Each	NO BID		A Section Control	NO BID		Name of the
		TOTAL LOW GROUP				NO BID			NO BID	

The School Board of Miami-Dade County, Florida Bid No. 058-HH01 Library/Classroom Furniture: Tables, Desks, and Chairs

Reviewed	by
Prepared	by

					COMMER	CIAL CONCEPTS	& FURNIHINGS	ERNIE	MORRIS ENTERPE	RIZES, INC.
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL. #
		Items 14 through 15B, will be awarded as a TOTAL Low Group. Bidder must bid all Items.								
	14	Chair, teacher, height adjustable from approximately 15" to 20".								
14 BALANCE		Minimum Order: 100 each	2,000	Each	\$104.63	\$209,260.00	COMFORTEK EF\$210	\$66.90	\$133,800.00	HON TS2 GRADE 2
	15	Chair, task/teacher, pneumatic height, adjustable from approximately 15° to 20°, Fabric Grades should include Ill and IV:								
15 BALANCE		Minimum Order: 1-50 each	200	Each	NO BID			\$79.00	\$15,800.00	HON 5901
15A		Minimum Order: 51-99 each	300	Each	NO BID			\$79.00	\$23,700.00	HON 5901
15B		Minimum Order: 100 or more	1500	Each	NO BID			\$79.00	\$118,500.00	HON 5901
		TOTAL LOW GROUP				Did not meet specifications- Did not bid all items 14-15A			\$291,800.00	Not meeting specifications
	16	BALANCE OF LINE DISCOUNT:			NO BID				58.30%	

						ALLAWAY OFFIC	E SUPPLIES		HERT	z		MOULTRIE	POST
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
		WARRANTY, IF GREATER THAN ONE YEAR											
	1	Items 1 AND 1A will be awarded as a Total Low Group. Bidder must bid booth Items.		_									
	516-0545	Teacher's desk, single pedestal, metal with plastic top approximately 30 "W X 48 "L.											
BALANCE		Minimum order: 1-119 each	700	Each	\$259.00	\$181,300.00	Hon 84251	\$285.85	\$200,095.00	ACADEMIA HTZ- 3048	NO BID		State Manager
1A BALANCE		Minimum order: 120 or more	1186	Each	\$259.00	\$307,174.00		\$285.85		3048	NO BID		
		TOTAL LOW GROUP				\$488,474.00			\$539,113.10			NO BID	
	2	Items 2 through 2A will be awarded as a Total Low Group. Bidder must bid all items.											
	516-4320	Computer table, approximately 30 *W X 60 *L,											
BALANCE		Minimum order: 1-99 each	200	Each	NO BID			\$127.36	\$25,472.00	ACADEMIA 873060 WITH 87WMP-60	\$93.53	\$18,706.00	MPF3060CT
2A BALANCE		Minimum order: 100 or more	3000	Each	NO BID			\$124.79	\$374,370.00	ACADEMIA 873060 WITH 87WMP-60	\$89.79	\$269,370.00	MPF3060CT
		TOTAL LOW GROUP			_	NO BID	A CONTRACTOR OF THE CONTRACTOR		\$399,842.00	_		\$288,076.00	Total Low bid meeting specifications
	3	Items 3 through 3A will be awarded as a Total Low Group. Bidder must bid all Items.											
		Computer table, approximately 30°W X 72°L,										<u></u>	
BALANCE		Minimum order: 1-49 each	50		NO BID			\$150.73	\$7,536.50	873072WITH 87WMP-72	\$105.86		
3A BALANCE		Minimum order: 50 or more	350	Each	NO BID		HI V	\$148.15	\$51,852.50	ACADEMIA 873072WITH 87WMP-72	\$102.98	\$36,043.00	MPF3072
		TOTAL LOW GROUP				NO BID	the state of the s		\$59,389.00			\$41,336.00	Total LOW BID MEETING SPECIFICATION

					<u> </u>	ALLAWAY OFFIC	E SUPPLIES		HERT	Z		MOULTRIE	POST
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
		Items 4 through 4A will be awarded as a Total Low Group. Bidder must bid all items.											
	516-4346	Computer workstation, approximately 30" X 36" X 26-1/2".											
BALANCE		Minimum order: 1-199 each	200	Each	NO BID			NO BID			NO BID		
4A ALANCE		Minimum order: 200 or more	1300	Each	NO BID			NO BID			NO BID		
		TOTAL LOW GROUP				NO BID			NO BID			NO BID	
		Items 5 through 5B will be awarded as a Total Low Group. Bidder must bid all items.											
	516-4354	Technology center, computer table, approximately 48*W X 30*D.											
BALANCE		Minimum Order: 1-5 each	26	Each	NO BID			\$84.40	\$2,194.40	ACADEMIA 873048	NO BID		
5A ALANCE		Minimum Order: 6-24	50	Each	NO BID			\$84.40	\$4,220.00	ACADEMIA 873048	NO BID		
5B ALANCE		Minimum Order: 25 or more	600	Each	NO BID		71.98 KISN	\$81.82	\$49,092.00	ACADEMIA 873048	NO BID		CATEM LINES
ALT II TO L		TOTAL LOW GROUP				NO BID			\$55,506.40			NO BID	
	6	Item 6 , will be awarded as a Low Unit Price.		-				-					
		Typing table, approximately 24" X 36"L.											
BALANCE		Minimum Order: 1 each	25	Each	NO BID			NO BID			NO BID		
		LOW UNIT PRICE				NO BID			NO BID			NO BID	
	7	Items 7 through 7B will be awarded as a Total Low Group. Bidder must bid all items.											
		Student table, rectangular approximately 48"W X 24"D.											
BALANCE		Minimum Order: 1-5 each	20	Each	NO BID			\$73.75	\$1,475.00	ACADEMIA 872448	\$69.99	\$1,399.80	MPF2448ST
7A BALANCE		Minimum Order: 6-24 each	50	Each	NO BID			\$73.75		ACADEMIA 872448		\$3,461.50	MPF2448ST
7B BALANCE		Minimum Order: 25 or more	200	Each	NO BID		The state of	\$71.17	\$14,234.00	ACADEMIA 872448	\$68.16	\$13,632.00	MPF2448ST
		TOTAL LOW GROUP				NO BID			\$19,396.50	Low bid meeting specifications		\$18,493.30	Did not meet specifications

						ALLAWAY OFFIC	E SUPPLIES		HERT	z		MOULTRI	E POST
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRIČE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
	В	Items 8 through 9B, will be awarded as a Total Low Group. Bidder must bid all items.											
		Chair, library, solid wood, two posts.											
8 BALANCE		Minimum Order: 1-19 each	80	Each	NO BID			NO BID			NO BID		
8A BALANCE		Minimum Order: 20-99 each	650	Each	NO BID			NO BID			NO BID		
8B BALANCE		Minimum Order: 100 or more	200	Each	NO BID			NO BID			NO BID		
	9	Chair, library, solid wood, four posts.											
9 BALANCE		Minimum Order: 6-19 each	80	Each	NO BID			NÓ BID			NO BID		
9A BALANCE		Minimum Order: 20-99 each	650	Each	NO BID			NO BID			NO BID		
9B BALANCE		Minimum Order: 100 or more	200	Each	NO BID			NO BID			NO BID		
		TOTAL LOW GROUP				NO BID			NÓ BID			NO BID	

					G	ALLAWAY OFFIC	E SUPPLIES		HERT	z		MOULTRI	E POST
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #
		Items 10 through 13C will be awarded as a Total Low Group. Bidder must bid all items.											
PARTIAL		Chair, stacking type, 12".											
10 PARTIAL		Minimum Order: 20-50 each	70		NO BID			\$19.59	\$1,371.30	122	NO BID		
10A PARTIAL		Minimum Order: 51-99 each	100		NO BID			\$19.59	\$1,959.00	122	NO BID		
10B PARTIAL	l	Minimum Order: 100 or more Chair, stacking type, 14",	200	Each	NO BID			\$19.59	\$3,918.00	ACADEMIA ACD- 122	NO BID		
11 PARTIAL	11	Minimum Order: 20-50 each	100	Each	NO BID			\$19.81	\$1,981.00		NO BID		据: "A.S. 自我。"
11A PARTIAL		Minimum Order: 51-99 each	200	Each	NÓ BID			\$19.81	\$3,962.00	124 ACADEMIA ACD- 124	NO BID		
11B PARTIAL		Minimum Order: 100-499 each	600		NO BID			\$19.81	\$11,886.00	ACADEMIA ACD- 124	NO BID		
11C PARTIAL		Minimum Order: 500 or more	3,200	Each	NO BID			\$19.81	\$63,392.00	ACADEMIA ACD- 124	NO BID		
	12	Chair, stacking type, 16",											
12 PARTIAL		Minimum Order: 20-50 each	70		NO BID			\$23.38		126	NO BID		
12A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			\$23.38	\$4,676.00	ACADEMIA ACD- 126	NO BID		
12C PARTIAL		Minimum Order: 100-499 each	800	Éach	NO BID			\$23.38	\$18,704.00	ACADEMIA ACD- 126	NO BID		
12D PARTIAL		Minimum Order: 500 or more	8,500	Each	NO BID			\$23.38	\$198,730.00	ACADEMIA ACD- 126	NO BID		
	13	Chair, stacking type, 18",											
13 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID		STATE OF THE PARTY OF	\$23.67	\$1,656.90	ACADEMIA ACD- 128	NO BID		
13A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			\$23.67	\$4,734.00		NO BID		
13B PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID			\$23.67	\$18,936.00		NO BID		克里斯拉斯 拉
13C PARTIAL		Minimum Order: 500 or more	13,500	Each	NO BID			\$23.67	\$319,545.00	ACADEMIA ACD- 128	NO BID		
		TOTAL LOW GROUP				NO BID			\$657,087.80			NO BID	

					G	ALLAWAY OFFICE	ESUPPLIES		HERTZ			MOULTRI	E POST
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
		Items 14 through 15B, will be awarded as a TOTAL Low Group. Bidder must bid all Items.											
		Chair, teacher, height adjustable from approximately 15° to 20°.											
14 BALANCE		Minimum Order: 100 each	2,000	Each	\$142.50	\$285,000.00	VIRCO 9260PG C	\$46.34	\$92,680.00	ACADEMIA ACD- 158P	NO BID		
		Chair, task/teacher, pneumatic height, adjustable from approximately 15° to 20°, Fabric Grades should include III and IV:											
15 BALANCE		Minimum Order: 1-50 each	200	Each	\$89.95	\$17,990.00	HON 5901	\$104.27	\$20,854.00	OFM 105	NO BID		
15A		Minimum Order: 51-99 each	300	Each	\$89.95	\$26,985.00	HON 5901	\$102.87	\$30,861.00	OFM 105	NO BID		12 14 15 15 15
158		Minimum Order: 100 or more	1500	Each	\$89.95	\$134,925.00	HON 5901	\$101.60	\$152,400.00	OFM 105	NO BID		
		TOTAL LOW GROUP				\$464,900.00			\$296,795.00			NO BID	
		BALANCE OF LINE DISCOUNT:		-	40%			66.80%			0%		
	16												

						PRIDE ENTE	ERPRISES		SCHOOL HOUSE	PRODUCT
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	PRICE	MANUFACTURER 8 MODEL #
		WARRANTY, IF GREATER THAN ONE YEAR								
	1	Items 1 AND 1A will be awarded as a Total Low Group. Bidder must bid booth items.	-							
	516-0545	Teacher's desk, single pedestal, metal with plastic top approximately 30 "W X 48 "L								
BALANCE		Minimum order: 1- 119 each	700	Each	NO BID			NO BID		
1A BALANCE		Minimum order: 120 or more	1186	Each	NO BID		100年,1985年100日	NO BID		
		TOTAL LOW GROUP				NO BID			NO BID	
	2	Items 2 through 2A will be awarded as a Total Low Group. Bidder must bid all Items.								
	516-4320	Computer table, approximately 30 *W X 60 *L,								
2 BALANCE		Minimum order: 1-99 each	200	Each	NO BID			\$152.25	\$30,450.00	ARTCOBELL CT60WMP5
2A BALANCE		Minimum order: 100 or more	3000	Each	NO BID			\$147.00	\$441,000.00	ARTCOBELL CT60WMP5
		TOTAL LOW GROUP				NO BID			\$471,450.00	
	3	Items 3 through 3A will be awarded as a Total Low Group. Bidder must bid all Items.								
	516-4338	Computer table, approximately 30"W X 72"L,								
3 BALANCE		Minimum order: 1-49 each	50	Each	NO BID			\$163.80	\$8,190.00	ARTCO BELL CT72 WMP6
3A BALANCE		Minimum order: 50 or more	350	Each	NO BID			\$158.55	\$55,492.50	ARTCO BELL CT72 WMP6
	 	TOTAL LOW GROUP	+	+		NO BID	The Marketink S. Street Co.	1	\$63,682.50	

						PRIDE ENTE	RPRIȘES		SCHOOL HOUSE	PRODUCT
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #
	4	Items 4 through 4A will be awarded as a Total Low Group. Bidder must bid all items.								
	516-4346	Computer workstation, approximately 30" X 36" X 26-1/2".								
BALANCE		Minimum order: 1-199 each	200	Each	\$147.00	\$29,400.00	PRIDE 416W130 WITH 4167336SHELF	\$120.75	\$24,150.00	ARTCO BELL CD36SH03
4A BALANCE		Minimum order: 200 or more	1300	Each	\$147.00	\$191,100.00	PRIDE 416W130 WITH 4167336SHELF	\$115.50	\$150,150.00	ARTCO BELL CD36SH03
		TOTAL LOW GROUP				\$220,500.00			\$174,300.00	Total Low Bid Meeting Specifications
	5	Items 5 through 5B will be awarded as a Total Low Group. Bidder must bid all Items.								
	516-4354	Technology center, computer table, approximately 48*W X 30*D.								
BALANCE		Minimum Order: 1-5 each	26		NO BID		ASSESSED OF THE SECOND	NO BID		
5A BALANCE		Minimum Order: 6-24	50	Each	NO BID		an A No. 1	NO BID		
5B BALANCE		Minimum Order: 25 or more	600	Each	NO BID			NO BID		
		TOTAL LOW GROUP				NO BID			NO BID	
	6	Item 6, will be awarded as a Low Unit Price.	_	+						
		Typing table, approximately 24" X 36"L.						, C.		
BALANCE		Minimum Order: 1 each	25	Each	NO BID			NO BID		
		LOW UNIT PRICE				NO BID			NO BID	
	7	items 7 through 7B will be awarded as a Total Low Group. Bidder must bid all items.								
		Student table, rectangular approximately 48"W X 24"D.								
7 BALANCE	E	Minimurn Order: 1-5 each	20	Each	NO BID		ARE SHE	NO BID		
7A BALANCE		Minimum Order: 6-24 each	50	Each	NO BID			NO BID		
7B BALANCE		Minimum Order: 25 or more	200	Each	NO BID			NO BID		
		TOTAL LOW GROUP	_	+	 	NO BID			NO BID	

The School Board of Mlami-Dade County, Florida Bld No. 058-HH01 Library/Classroom Furniture: Tables, Desks, and Chairs

Reviewed	by
Prepared	by

				_		PRIDE ENTE	RPRISES		school House	PRODUCT
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #
	B	Items 8 through 9B, will be awarded as a Total Low Group. Bidder must bid all Items. Chair, library, solid wood, two posts.								
8 BALANCE		Minimum Order: 1-19 each	80	Each	\$103.00	\$8,240.00	2LCSS 14,2LCSS16,2LCSS18	NO BID		
8A BALANCE		Minimum Order: 20-99 each	650	Each	\$101.00	\$65,650.00	2LCSS 14,2LCSS16,2LCSS18	NO BID		
8B BALANÇE		Minimum Order: 100 or more	200	Each	\$99.00	\$19,800.00	2LCSS 14,2LCSS16,2LCSS18	NO BID		
	9	Chair, library, solid wood, four posts.								
9 BALANCE		Minimum Order: 6-19 each	80	Each	\$124.00	\$9,920.00	4LCSS15, 4LCS17	NO BID		
9A BALANCE		Minimum Order: 20-99 each	650	Each	\$122.00	\$79,300.00	4LCS\$15, 4LCS17	NO BID		1954
98 BALANCE		Minimum Order: 100 or more	200	Each	\$120.00	\$24,000.00	4LCSS15, 4LCS17	NO BID		
		TOTAL LOW GROUP		\top		\$206,910.00			NO BID	

						PRIOE ENTE	RPRISES		SCHOOL HOUSE	PRODUCT
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #
	0	Items 10 through 13C will be awarded as a Total Low Group. Bidder must bid all Items.								
PARTIAL		Chair, stacking type, 12".								
10 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID		(4)	\$15.25	\$1,067.50	ARTCO BELL 7101
10A PARTIAL		Minimum Order: 51-99 each	100	Each	NO BID			\$15.25	\$1,525.00	ARTCO BELL 7101
10B PARTIAL		Minimum Order: 100 or more	200	Each	NO BÌD		温度日 推落	\$15.25	\$3,050.00	ARTCO BELL 7101
	11	Chair, stacking type, 14",								
11 PARTIAL		Minimum Order: 20-50 each	100	Each	NO BID			\$15.25	\$1,525.00	ARTCO BELL 7103
11A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			\$15.25	\$3,050.00	ARTCO BELL 7103
11B PARTIAL		Minimum Order: 100-499 each	600	Each	NO BID			\$15.25	\$9,150.00	ARTCO BELL 7103
11C PARTIAL		Minimum Order: 500 or more	3,200	Each	NO BID			\$15.25	\$48,800.00	ARTCO BELL 7103
	12	Chair, stacking type, 16",								
12 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			\$18.59	\$1,301.30	ARTCO BELL 7105
12A PARTIAL		Minimum Order: 51-99 each	200	Each	NO BID			\$18.59	\$3,718.00	ARTCO BELL 7105
12C PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID			\$18.59	\$14,872.00	ARTCO BELL 7105
12D PARTIAL		Minimum Order: 500 or more	8,500	Each	NO BID	Tredi		\$18.59	\$158,015.00	ARTCO BELL 7105
	13	Chair, stacking type, 18",								
13 PARTIAL		Minimum Order: 20-50 each	70	Each	NO BID			\$21.55	\$1,508.50	ARTCO BELL 7107
13A PARTJAL		Minlmum Order: 51-99 each	200	Each	NO BID			\$21.55	\$4,310.00	ARTCO BELL 710
13B PARTIAL		Minimum Order: 100-499 each	800	Each	NO BID		赛 400000	\$21.55	\$17,240.00	ARTCO BELL 7107
13C PARTIAL		Minimum Order: 500 or more	13,500	Each	NO BID		CHANGE OF THE STATE OF THE STAT	\$21.55	\$290,925.00	ARTCO BELL 7107
		TOTAL LOW GROUP				NO BID			\$560,057.30	

						PRIDE ENTE	RPRISES		SCHOOL HOUSE	PRODUCT
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER MODEL #
		Items 14 through 15B, will be awarded as a TOTAL Low Group. Bidder must bid all items.								
		Chair, teacher, height adjustable from approximately 15° to 20°.								
14 BALANCE		Minimum Order: 100 each	2,000	Each	NO BID			\$79.77	\$159,540.00	ARTCO BELL 7PQOP
	15	Chair, task/teacher, pneumatic height, adjustable from approximately 15° to 20°, Fabric Grades should include III and IV:								
15 BALANCE		Minimum Order: 1-50 each	200	Each	\$118.00	\$23,600.00	PRIDE 441MWPV	\$65.00	\$13,000.00	GLOBAL OTG1165
15A		Minimum Order: 51-99 each	300	Each	\$116.00	\$34,800.00	PRIDE 441MWPV	\$65.00	\$19,500.00	GLOBAL OTG1165
158		Minimum Order: 100 or more	1500	Each	\$114.00	\$171,000.00	PRIDE 441MWPV	\$65.00	\$97,500.00	GLOBAL OTG1165
		TOTAL LOW GROUP				Did not meet specifications- Did not bid all items 14-15A			\$289,540.00	Does not meet Specifications
	16	BALANCE OF LINE DISCOUNT:			58%			GLOBAL 50% AND Artco Bell 56%		

						SCHOOL SPE	CIALTY		SKAGSETH BRYAN	IT INC			RCO
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
		WARRANTY, IF GREATER THAN ONE YEAR											
	1	Items 1 AND 1A will be awarded as a Total Low Group. Bidder must bid booth items.	-	_									
	516-0545	Teacher's desk, single pedestal, metal with plastic top approximately 30 "W X 48 "L,.											
BALANCE		Minimum order: 1- 119 each	700	Each	\$261.65	\$183,155.00	ORNA METAL TD- 3048SP BGOK	\$221.21	\$154,847.00	88251R HON	\$246.88	\$172,816.00	VIRCO 543
1A BALANCE		Minimum order: 120 or more	1186	Each	\$248.88	\$295,171.68	ORNA METAL TD- 3048SP BGOK	\$221.21	\$262,355.06	88251R HON	\$246.88	\$292,799.68	VIRCO 543
		TOTAL LOW GROUP				\$478,326.68			\$417,202.06			\$465,615.68	
	2	Items 2 through 2A will be awarded as a Total Low Group. Bidder must bid all items.											
	516-4320	Computer table, approximately 30 °W X 60 °L,											
BALANCE		Minimum order: 1-99 each	200	Each	\$131.15	\$26,230.00	AMTAB AA305PW	NO BID			\$161.43	\$32,286.00	VIRCO 873060/TWMP6
2A BALANCE		Minimum order: 100 or more	3000	Each	\$127.75	\$383,250.00	AMTAB AA305PW	NO BID			\$161.43	\$484,290.00	VIRCO 873060/TWMP6
		TOTAL LOW GROUP				\$409,480.00			NO BID	and the second second		\$516,576.00	
	3	Items 3 through 3A will be awarded as a Total Low Group. Bidder must bid all Items.											
	516-4338	Computer table, approximately 30"W X 72"L,		1									
BALANCE		Minimum order: 1-49 each	50	Each	\$143.31	\$7,165.50	AMTAB AA306PW	NO BID			\$188.13	\$9,406.50	VIRCO 873072/TWMP7
3A BALANCE		Minimum order: 50 or more	350	Each	\$138.94	\$48,629.00	AMTAB AA306PW	NO BÍD			\$188.13	\$65,845.50	VIRCO 873072/TWMP7
	 	TOTAL LOW GROUP	-	+-		\$55,794.50			NO BID	The second second		\$75,252.00	

1						SCHOOL SPE	CIALTY		SKAGSETH BRYA	NT INC			RCO
Ì						3011002 372	CIALIT		SIGNOSCITIBILITA	HT IIIC			
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	ÜNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
		Items 4 through 4A will be awarded as a Total Low Group. Bidder must bid all items.											
	516-4346	Computer workstation, approximately 30" X 36" X 26-1/2".											
BALANCE		Minimum order: 1-199 each	200	Each	\$119,29	\$23,858.00	ABCO CFM 30366- MSH 36	NO BID			NO BID		
4A ALANCE		Minimum order: 200 or more	1300	Each	\$119.29	\$155,077.00	ABCO CFM 30366- MSH 36	NO BID			NO BID		
		TOTAL LOW GROUP				\$178,935.00			NO BID	court o man		NO BID	
	5	Items 5 through 5B will be awarded as a Total Low Group. Bidder must bid all Items.											
	516-4354	Technology center, computer table, approximately 48"W X 30"D.											
BALANCE		Minimum Order: 1-5 each	26	Each	\$85.22	\$2,215.72	ALLIED T53048	NO BID		266220082307	\$92.28	\$2,399.28	VIRCO 873048
5A ALANCE		Minimum Order: 6-24	50	Each	\$80.28	\$4,014.00	ALLIED T53048	NO BID			\$92.28	\$4,614.00	VIRCO 873048
5B ALANCE		Minimum Order: 25 or more	600	Each	\$79.04	\$47,424.00	ALLIED T53048	NO BID			\$92.28	\$55,368.00	VIRCO 873048
		TOTAL LOW GROUP				\$53,653.72	Total Low bid meeting specifications		NO BID			\$62,381.28	-
	6	Item 6, will be awarded as a Low Unit Price.		 	i								
		Typing table, approximately 24" X 36"L.	-										
BALANCE		Minimum Order: 1 each	25	Each	\$79.03	\$1,975.75		NO BID			\$95.84		VIRCO 872436/U87CA
		LOW UNIT PRICE				\$1,975.75	Non responsive for sample request		NÓ BID		<u> </u>	\$2,396.00	Low bidder meeting specifications.
	7	Items 7 through 7B will be awarded as a Total Low Group. Bidder must bid all Items.											
		Student table, rectangular approximately 48"W X 24"D.											
BALANCE		Minimum Order: 1-5 each	20	Each	\$81.11	\$1,622.20	AMTAB AA244P	NO BID	1-		\$47.77	\$955.40	VIRCO 482448
7A BALANCE		Minimum Order: 6-24 each	50	Each	\$72.10	\$3,605.00	AMTAB AA244P	NO BID			\$47.77	\$2,388.50	VIRCO 482448
7B BALANCE		Minimum Order: 25 or more	200	Each	\$70.09	\$14,018.00	AMTAB AA244P	NO BID			\$47.77		
		TOTAL LOW GROUP				\$19,245.20	Non-Responsive/no samples		NO BID			\$12,897.90	Non-responsive/no sam

						SCHOOL SPE	CIALTY		SKAGSETH BRYA	NT INC		VIRCO			
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #		
	8	Items 8 through 9B, will be awarded as a Total Low Group. Bidder must bid all items.								<u> </u>					
		Chair, library, solid wood, two posts.													
B BALANCE		Minimum Order: 1-19 each	80	Each	\$111.65	\$8,932.00	GEORGIA CHAIR 348	NO BID			NO BID				
8A BALANCE		Minimum Order: 20-99 each	650	Each	\$108.61	\$70,596.50	GEORGIA CHAIR 348	NO BÌD			NO BID		The same		
8B BALANCE		Minimum Order: 100 or more	200	Each	\$106.58	\$21,316.00	GEORGIA CHAIR 348	NO BID			NO BID				
	9	Chair, library, solid wood, four posts.													
BALANCE		Minimum Order: 6-19 each	80	Each	\$129.60	\$10,368.00	Georgia Chair 503- R18UBUS	NO BID			NO BID				
9A BALANCE		Minimum Order: 20-99 each	650	Each	\$127.20	\$82,680.00	Georgia Chair 503- R18UBUS	NO BID			NO BID				
9B BALANCE		Minimum Order: 100 or more	200	Each	\$124.80	\$24,960.00	Georgia Chair 503- R18UBUS	NÓ BID			NO BID				
		TOTAL LOW GROUP				\$218,852.50			NO BID			NO BID			

[
						SCHOOL SPE	CIALTY		SKAGSETH BRYAN	IT INC		VIF	aco		
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #		
	0	Items 10 through 13C will be awarded as a Total Low Group. Bidder must bid all items.													
PARTIAL		Chair, stacking type, 12".													
10 PARTIAL		Minimum Order: 20-50 each	70	Each	\$20.97	\$1,467.90	SCHOLAR CRAFT SC121	\$18.83	\$1,318.10	H1012Y HON	\$16.00	\$1,120.00	VIRCO 9012		
10A ARTIAL		Minimum Order: 51-99 each	100	Each	\$20.68	\$2,068.00	SC121	\$18.83	\$1,883.00	H1012Y HON	\$16.00	\$1,600.00	VIRCO 9012		
10B PARTIAL		Minimum Order: 100 or more	200	Each	\$19.98	\$3,996.00	SCHOLAR CRAFT SC121	\$18.83	\$3,766.00	H1012Y HON	\$16.00	\$3,200.00	VIRCO 9012		
11	11	Chair, stacking type, 14", Minimum Order: 20-50 each	100	Each	\$21,30	\$2,130,00	SCHOLAR CRAFT	\$19.59	\$1,959.00	H1014Y HON	\$16.00	\$1,600.00	VIRCO 9014		
ARTIAL 11A		Minimum Order: 51-99 each	200	Each	\$20.90	\$4,180.00	SC123	\$19.59	\$3,918.00		\$16.00		VIRCO 9014		
ARTIAL 11B ARTIAL		Minimum Order: 100-499 each	600	Each	\$20.24	\$12,144.00		\$19.59	\$11,754.00	H1014Y HON	\$16.00	\$9,600,00	VIRCO 9014		
11C ARTIAL		Minimum Order: 500 or more	3,200	Each	\$19.10	\$61,120.00	SC123 SCHOLAR CRAFT SC123	\$19.59	\$62,688.00	H1014Y HON	\$16.00	\$51,200.00	VIRCO 9014		
	12	Chair, stacking type, 16",				-	00720								
12 ARTIAL		Minimum Order: 20-50 each	70	Each	\$25.85	\$1,809.50	SCHOLAR CRAFT SC125	\$22.88	\$1,601.60	H1016Y HON	\$17.80	\$1,246.00	VIRCO 9016		
12A ARTIAL		Minimum Order: 51-99 each	200	Each	\$24.68	\$4,936.00	SCHOLAR CRAFT SC125	\$22.88	\$4,576.00	H1016Y HON	\$17.80	\$3,560.00	VIRCO 9016		
12C PARTIAL		Minimum Order: 100-499 each	800	Each	\$23.97	\$19,176.00	SCHOLAR CRAFT SC125	\$22.88	\$18,304.00	H1016Y HON	\$17.80	\$14,240.00	VIRCO 9016		
12D PARTIAL		Minimum Order: 500 or more	8,500	Each	\$23.27	\$197,795.00	SCHOLAR CRAFT SC125	\$22.88	\$194,480.00	H1016Y HON	\$17.80	\$151,300.00	VIRCO 9016		
13	13	Chair, stacking type, 18", Minimum Order: 20-50 each	70		200.04	## 004 00	COUCLAD OBAET	**************************************		111010111011					
PARTIAL 13A		Minimum Order: 51-99 each	70	Each	\$26.64	\$1,864.80	SC127	\$25.31	\$1,771.70		\$18.99		VIRCO 9018		
PARTIAL 13B		Minimum Order: 51-99 each	200	Each	\$25.57 \$24.82	\$5,114.00 \$19,856.00	SC127	\$25.31	\$5,062.00		\$18.99		VIRCO 9018		
PARTIAL				Each			SC127	\$25.31	\$20,248.00		\$18.99				
13C PARTIAL		Minimum Order: 500 or more	13,500	Each	\$24.14	\$325,890.00	SCHOLAR CRAFT SC127	\$25.31	\$341,685.00		\$18.99		VIRCO 9018		
		TOTAL LOW GROUP				\$663,547.20			\$675,014.40			\$518,550.30			

						SCHOOL SPE	CIALTY		SKAGSETH BRYAN	TINC		v	IRCO
ITEM	M-DCPS NO.	DESCRIPTION	QTY.	ÜNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
	- ;	items 14 through 15B, will be awarded as a TOTAL Low Group. Bidder must bid all items.											
		Chair, teacher, height adjustable from approximately 15° to 20°.											
14 BALANCE		Minimum Order: 100 each	2,000	Each	\$96.90	\$193,800.00	SCHOLAR CRAFT SC110P	\$62.68	\$125,360.00	TS2 HON	\$74.48	\$148,960.00	VIRCO 9260PGC
	15	Chair, task/teacher, pneumatic height, adjustable from approximately 15° to 20°, Fabric Grades should include III and IV:											
15 BALANCE		Minimum Order: 1-50 each	200	Each	\$91.80	\$18,360.00	GLOBAL GOAL 2239- 6	NON RESPONSIVE		5901 Grade 3 and 4	\$103.72	\$20,744.00	VIRCO 4300
15A		Minimum Order: 51-99 each	300	Each	\$91.80	\$27,540.00	GLOBAL GOAL 2239 6	NON RESPONSIVE			\$103.72	\$31,116.00	VIRCO 4300
15B		Minimum Order: 100 or more	1500	Each	\$84.66	\$126,990.00	GLOBAL GOAL 2239 6	NON RESPONSIVE			\$103.72		
		TOTAL LOW GROUP				\$366,690.00	Non-responsive/no samples		NON RESPONSIVE			\$356,400.00	Non responsive/ no sample submitted
	16	BALANCE OF LINE DISCOUNT:		-	48%			61.11%			65%		